
KIA
CARENS

CARENS I (FC) 11/2000 - 07/2002

-

1 2

1

26KI100126KI1000

38HY1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
0K2N1-34170A 

0K2N1-34150A

Stabiliser Link Left 

Stabiliser Link Right 

L:272mm  

L:272mm  

26KI1000 

26KI1001 

CARENS II (FJ)   
CARENS Mk II (FJ)   

11/2005 - 11/2009
11/2005 - 11/2009

38HY1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 0K2N1-34170A38HY1000 Silentblock for TCA di:Ø14,2 do:Ø44



KIA
CARENS

CARNIVAL

CARENS III (UN) 10/2006 - 03/2013 

CARENS IV (RP) 03/2013 ->

1 1

10HY200010HY2000

10KI3000 10KI3000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
51760 0Q000 

0K2N1-34170A

Ball Joint 

Silentblock for TCA 

 

th:M12x1.25 RHT  cp:1/8 cs:Ø15  

di:Ø14,2 do:Ø44 

Ball Joint 

Control Arm / Trailing Arm Bushing 

10HY2000 

38HY1000

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

CARNIVAL III (VQ) 09/2005 - >

38HY1000 38HY1000

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 54530 3S10010KI3000 

2

38HY1000 38HY1000

--> 11/09

Ball Joint c:Ø18   

di:Ø14,2 do:Ø441 Silentblock for TCA 0K2N1-34170A38HY1000



KIA
CEE'D

CEE'D (ED) 
CEE'D SW (ED) 

12/2006 - 05/2012 
09/2007 - 09/2012 

26HY2510 26HY2510

17HY2000 17HY200120HY200020HY2000

7 7

3 5

1

10HY2000 10HY2000

4

-> 10/2009
-

26HY2500

6 6

2

10KI3010 10KI3010

11/2009 ->

38HY1000 38HY1000

8

26HY2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

51760 0Q000 

51760 2R000 

56820 2H000 

56820 2H090 

56540 2H000 

55530 1H100 

54830 2H20054830 2H200 

55130 4D000

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser LinkStabiliser Link 

Silentblock for TCA

 

th:M12x1.25 RHT  cp:1/8 cs:Ø15  

th:M12x1.5 RHT  cp:1/8 cs:Ø15,1 do:Ø42 

c:Ø13,4 th:FM14x1,5 RHT 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:164mm 

L:170mm  

L:L:243mm  

di:Ø14,2 do:Ø44 

10HY2000 

10KI3010 

17HY2000 

17HY2001 

20HY2000 

26HY2500 

26HY226HY2510 

38HY1000 



KIA
CEE'D

-

CEE'D (JD) 
CEE'D SW (JD) 

05/2012 -->
09/2012 -->

26KI3000 26KI3000

17KI3000 17KI300120KI300020KI3000

5 5

1 1

6 6

2 4 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54530 3S100 

56820 A6000 

56820 A6090 

56540 A6000 

54830 2V000 

55530 3R000 

54554584 A6000

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock Silentblock For TCA 

c:Ø18    

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:218,5mm 

L:282mm  

L:87mm  

di:Ødi:Ø14,3 do:Ø70 

10KI3000 

17KI3000 

17KI3001 

20KI3000 

26KI3000 

26KI3010 

38HY038HY0310 

10KI3000 10KI3000

38HY0310

26KI301026KI3010

38HY0310

7



KIA
CERATO

-

CERATO (LD) 
CERATO Saloon (LD)

04/2004 - 12/2009

26KI0200 26KI0201

17HY0500 17HY0500

20KI020020KI0200

5 6

1 1

4 4

2 3 2

10HY0500 10HY0500

26HY0605 26HY0605

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

54530 31600 

56820 25000 

57724 2D000 

55530 17010 

54830 2F000 

54840 2F000

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link Left 

Stabiliser Link Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:208,5mm 

L:130mm  

L:250,5mm  

L:250,5mm  

10HY0500 

17HY0500 

20KI0200 

26HY0605 

26KI0200 

26KI0201 



KIA
CLARUS

K 2500  K 2700 

LOTZE

-

CLARUS (K9A) 
CLARUS ESTATE (GC) 

07/1996 - 04/2001 
05/1998 - 04/2001

K 2500
K 2700

01/1997 ->
01/1997 ->

LOTZE (MG) 11/2005 -->

10MZ0500

17KI0100

10MZ03 10MZ03

17KI0100

10MZ04

10HY2000 10HY2000

10MZ04

1 1

1 1

10MZ0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

0K710 34540 

0K710 34510 

0K710 32240

Ball Joint 

Ball Joint 

Tie Rod End

th:M16x1.5 RHT  cp:1/8 cs:Ø18  

th:M18x1.5 RHT  cp:1/8 cs:Ø19,75  

c:Ø13,9 th:MM14x1,5 RHT 

10MZ03 

10MZ04 

17KI0100 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 0G030 34 550B10MZ0500 Ball Joint Lower c:Ø18   do:Ø43,1

3

2

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 51760-2H00010HY2000 Ball Joint th:M12x1.25 RHT  cp:1/8 cs:Ø15 



KIA
MAGENTIS

-

MAGENTIS (MG)  
MAGENTIS Saloon (MG)  

11/2005 -->

1 1

10HY200010HY2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 51760-2H00010HY2000 Ball Joint th:M12x1.25 RHT  cp:1/8 cs:Ø15 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
55530 3R000 

55130 4D000

Stabiliser Link Rear 

Silentblock Bushing 

L:87mm  

di:Ø14,2 do:Ø44 

26KI3010 

38HY1000

MENTOR

OPTIMA 

MENTOR I (FA) 
MENTOR Saloon (FA)

09/1993 - 10/1997  

1 1

10MZ0210MZ02

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 OK201-34550C10MZ02 Ball Joint c:Ø16   

OPTIMA (TF) 09/2010 ->

2

38HY1000 38HY1000

ABSABS

1 1

26KI3010 26KI3010



KIA
PICANTO

PICANTO (TA) 05/2011 ->

PREGIO

PREGIO (TB) 01/1997 - 01/2005

-

1

1

2

26HY2011

17KI010017KI0100

26HY2010

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54830 1J000 

54840 1J000 

Stabiliser Link Left 

Stabiliser Link Right 

L:216mm  

L:216mm  

26HY2010 

26HY2011 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 0K72A 32240ATie Rod End c:Ø13,9 th:MM14x1,5 RHT17KI0100



KIA
PRO CEE'D

PRO CEE'D (ED) 02/2008  03/2013-

26HY2510

26HY2500

26HY2510

17HY2000 17HY200120HY200020HY2000

7 7

6 6

3 5

1

10HY2000 10HY2000

4

-> 10/2009

-

-

2

10KI3010 10KI3010

11/2009 ->

38HY1000 38HY1000

8

26HY2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

51760 0Q000 

51760 2R000 

56820 2H000 

56820 2H090 

56540 2H000 

55530 1H100 

54830 2H20054830 2H200 

55130 4D000 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser LinkStabiliser Link

Silentblock for TCA

 

 

th:M12x1.25 RHT  cp:1/8 cs:Ø15  

th:M12x1.5 RHT  cp:1/8 cs:Ø15,1 do:Ø42 

c:Ø13,4 th:FM14x1,5 RHT 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:164mm 

L:170mm  

L:L:243mm  

di:Ø14,2 do:Ø44 

10HY2000 

10KI3010 

17HY2000 

17HY2001 

20HY2000 

26HY2500 

26HY226HY2510 

38HY1000 



KIA
PRO CEE'D

PRO CEE'D (JD) 03/2013 -->

-

-

26KI3000 26KI3000

20KI300020KI3000

5 5

1 1

6 6

2 4 3

17KI3000 17KI3001

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54530 3S100 

56820 A6000 

56820 A6090 

56540 A6000 

54830 2V000 

55530 3R000 

54554584 A6000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock Silentblock For TCA 

c:Ø18    

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:218,5mm 

L:282mm  

L:87mm  

di:Ødi:Ø14,3 do:Ø70 

10KI3000 

17KI3000 

17KI3001 

20KI3000 

26KI3000 

26KI3010 

38HY038HY0310 

10KI3000 10KI3000

38HY0310

26KI301026KI3010

38HY0310

7



KIA
RIO

-

RIO II (JB) 
RIO II Saloon (JB)

03/2005 -->

26HY0515 26HY0516

17HY0516
17HY0515 20HY0515

38HY0100

20HY0515

6

32 4

7

5

1

08 / 2006  -->

38HY0100

10KI2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

51760 1G000 

56820-1E000 

56820-1E900 

57724-1E000 

54830 1E000 

54840 1E100 

54554551 2K000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock Silentblock For TCA 

th:M12x1.5 RHT  cp:1/8 cs:Ø15  

c:Ø13,25 th:FM14x1,5 RHT 

c:Ø13,25 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:196mm 

L:285mm  

L:285mm  

di:Ø12di:Ø12,1 do:Ø32 

10KI2000 

17HY0515 

17HY0516 

20HY0515 

26HY0515 

26HY0516 

38HY38HY0100 

1

10KI2000



KIA
RIO

RIO III (UB)
RIO III Saloon (UB)

09/2011 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

56820 0U500 

56820 0U590 

56540 0U000 

54830 2V000 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

c:Ø13,3 th:FM16x1,5 RHT 

c:Ø13,3 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:217mm 

L:282mm  

17HY0520 

17HY0521 

20KI2010 

26KI3000 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

54830 2V000 

54551 4L000 

54584 3X000 

Stabiliser Link 

Silentblock For TCA 

Silentblock For TCA 

L:282mm  

di:Ø12,2  

di:Ø14,5 do:Ø66 

26KI3000 

38HY0110 

38HY0300 

26KI3000 26KI3000

20KI2010 17HY052117HY0520

4

21

3

4

26KI3000 26KI3000

38HY0300

1

3

1

20KI2010

RIO III SALOON (RUSSIAN BUILT) 06/2011 ->

38HY0110

2

38HY0110

38HY0300

3



KIA
SEDONA

SEDONA Mk II (VQ) 09/2005 >

SEPHIA II (FB) 03/1996 - 12/2001

SEPHIA

10MZ0210MZ02

26KI100126KI1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 OK201-34550C10MZ02 Ball Joint c:Ø16   

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

0K2N1 34170A 

0K2N1 34150A 

26KI1000 

26KI1001 

Stabiliser Link Left 

Stabiliser Link Right 

L:272mm  

L:272mm  

SEPHIA I (FA) 
SEPHIA Saloon (FA)

09/1993 - 10/1997

-

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 0K2N1-34170Adi:Ø14,2 do:Ø4438HY1000 Silentblock for TCA

1

1

21

38HY1000 38HY1000



KIA
SHUMA

SHUMA I (FB)
SHUMA II (FB) 
SHUMA Saloon (FB)

02/1999  12/2001
05/2001  08/2004

-

-
-

-

-
26KI100126KI1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

0K2N1 34170A 

0K2N1 34150A 

26KI1000 

26KI1001 

Stabiliser Link Left 

Stabiliser Link Right 

L:272mm  

L:272mm  

21



KIA
SORENTO

SORENTO I (JC) 08/2002 ->

SORENTO II (XM) 09/2009 ->

17KI1001

26HY3001

17HY3001

10HY3000

26HY3005
38HY1000

17HY3000

26HY3000

17KI1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

56820 3E000 

56820 3E900 

17KI1000 

17KI1001 

Tie Rod End Left 

Tie Rod End Right 

c:Ø13,9 th:FM14x1,5 RHT 

c:Ø13,9 th:FM14x1,5 RHT 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54530 3B000 

56820 2P900 

56820 2P000 

54830 2B200 

54840 2B200 

55530 2B200 

555130 4D000 

10HY3000 

17HY3000 

17HY3001 

26HY3000 

26HY3001 

26HY3005 

38HY38HY1000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Link Rear 

Silentblock Silentblock for TCA

 

c:Ø20   do:Ø42,75 

c:Ø13,9 th:FM16x1,5 RHT 

c:Ø13,9 th:FM16x1,5 RHT 

L:340mm  

L:340mm  

L:99mm  

di:Ødi:Ø14,2 do:Ø44 

2

32

5

1

6

7

4

1

-

10HY3000

1

38HY1000

2012 -->

26HY3005

6



KIA
SOUL

SOUL (AM) 02/2009 - 12/2014

SOUL II (PS) 02/2014 ->

26KI3000 26KI3000

4 4

21

1 1

2 3

17KI3000 17KI3001

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54530 3S100 

56820 A6000 

56820 A6090 

54830 2V000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

c:Ø18    

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

L:282mm  

10KI3000 

17KI3000 

17KI3001 

26KI3000 

10KI3000 10KI3000

38HY0100

17HY2011
17HY2010

3

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

56820 2K000 

56820 2K050 

54551 2K000 

Tie Rod End Left 

Tie Rod End Right 

Silentblock For TCA 

c:Ø13,25 th:FM16x1,5 RHT 

c:Ø13,25 th:FM16x1,5 RHT 

di:Ø12,1 do:Ø32 

17HY2010 

17HY2011 

38HY0100 

38HY0100



KIA
SPECTRA

SPECTRA II (FB) 05/2001 - 08/2004

1 2

26KI100126KI1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
0K2N1-34170A 

0K2N1-34150A

Stabiliser Link Left 

Stabiliser Link Right 

L:272mm  

L:272mm  

26KI1000 

26KI1001 

-

-



KIA
SPECTRA

-

SPECTRA (LD)
SPECTRA Saloon (LD)

04/2004 - 12/2009
04/2004 - 12/2009

26KI0200 26KI0201

17HY0500 17HY0500

20KI020020KI0200

5 6

1 1

4 4

2 3 2

10HY0500 10HY0500

26HY0605 26HY0605

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

54530 31600 

56820 25000 

57724 2D000 

55530 17010 

54830 2F000 

54840 2F000

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link Left 

Stabiliser Link Right 

10HY0500 

17HY0500 

20KI0200 

26HY0605 

26KI0200 

26KI0201 



NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

54830 2V000 

55530 3R000 

55130 4D000 

Stabiliser Link 

Stabiliser Link

Silentblock for TCA

 

 

L:282mm  

L:87mm  

di:Ø14,2 do:Ø44 

26KI3000 

26KI3010 

38HY1000 

KIA
SPORTAGE

SPORTAGE (SL) 07/2010 >

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 54830 2V000  Stabiliser Link  

 

L:282mm 26KI3000  

SPORTAGE (QL) 09/2015 ->

-

-

-

26KI3000 26KI3000

38HY1000
26KI3010

2WD2WD

01/2014 >01/2014 >

1

23

26KI3010

2

1

26KI3000 26KI3000

11

38HY1000



KIA
VENGA

VENGA (YN) 02/2010 ->

-

-

4

2 3

16

5

26HY201126HY2010

17HY2010 17HY2011

10HY0500
38HY010038HY0100

1

10HY0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

54530 31600 

56820 2K000 

56820 2K050 

54830 1J000 

54840 1J000 

54551 2K000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,25 th:FM16x1,5 RHT 

c:Ø13,25 th:FM16x1,5 RHT 

L:216mm  

L:216mm  

di:Ø12,1 do:Ø32 

10HY0500 

17HY2010 

17HY2011 

26HY2010 

26HY2011 

38HY0100 


